a)

CG8447 stop
codon
=
t aat gaaat t cacaaat gcat caaaagctt gacgagaaagccggttgtgttt
Oct-1 . Barbie box
Barbie box

Accord insertion in D.melanogaster

v
aattatttatagattatagcgtgcaatacttttcatatcgtatatgtattge

Oct-1

Ahr-
CHOP

gttaacgctttt aaaaat ct aact aaaccat agcacacaaaaagt aaat aag

Oct-1

CGB8447 transcription
4.8kb Doc insertion in D.simulans stop

o C—

v
gtt gtt aaaact aagaat cat t at aat aaat gt aat cat gactt gt aatt at

Oct-1

cttagagtccctctggatttgectgtggtttgtttgtcgtattttaaagettt

Oct-1

tt ccaccacacaggt gaattt at aagt at gcactt gaaatt gct at ct caga

Oct-1
Cyp6g1l transcription
start

acttttgagactttcgagt at aaaaacgcaaacaacattt caaat cgcccca

Oct-1



b)
gt t t cgat aagt gact caagt ggaaaaaaaaagt gt ct acact t gacacagt g

CG9137 5’ UTR

Barbie box
tttgcactttgcgctgatttaatctctcgececcgectttggcet gt ggacttgag

Cypl2cl 5’ flank



